981F SREENOERH/TEZZITUYV D 1E ()8 )BE g (

1O a8 @ 62° (3 —15y* @) «® () 46° (6 16x%° [15] @K 2 KkBIsD 7' 5 7 %1047
1) 6x—10 (2) 6x—12 (3) —1522+10x (4) —62%+152+6 y=ly \ v 1
D) 22+2x+1 (2 x2—6x+9 (3 dx’+dx+1 (4 9x°—24x+16 2
1) 22—1 (2 4x°—1 (3) 1—9x? o | 4] -2 -1)10]1]2)4 \\ II
(1) x%4+3x+2 (2) x%4+5x+6 (3) x2—2x—3 4) x®42x—8 vyl - 8 2 % 0 % 218 \
5) x2—112+30  (6) x2—1lx+24 0 /
N /
@ 1) (x+1* @ (x=2% (3 (x+5* @ (x—=3)° Q A
1) (a+1e—=1) (2) (2a+3)(2a—3)
DO (x+1x+3) @ (x+1)x+5 3 (x+2)(x+3) @ (x+1)(x+6)
6) (x+3)x+4) 6 (x+2)x+7)
L@ 1) =2 @ s=-2 @ x=3 @) 1=-2 ) r=—5
r=-1, y=1 O 2 KBIMD Y T 7 h i, 3
1) x=0, =5 (2 x2=4,7 3 x=-1,6 4 x=-3, —9 " o)
5 x=2, —8 =9
©) # € = [ =3[—2[=1]o[ 123~ —117\
(1) x=_5iTm @ x=3+£J7 (3 xZJiTm yll =9 =4 =1]0|-1]—-4]-9]--
4+ 1
@) xziTﬁ II ‘\
OKD y % x DA THE, / \
(1) B 40 km CTa BRI KT 4 7 Lz & & OEFTHHE y km
y=40x
Oﬁwczjsb\f, Lx, LyDRESZRD X,
Zx, ZADBIZYH 5 bl AB IS A THS D c
Zx= /ADB
@ 55%2< AIFES10cm T, k&S5 EmEN02cm L b, H5%2< AT Lo Jae50
KEDTFTHD x 3HOES yem Zy, ZCBDZ&5 5 31 CD Ickl+ 2 MEATHLME
y=10—0.2x Zy=/CBD

YoT  Ly=30°

@) ETOESHxecm T, LZORENBETEY 5em BEWEHFIEOMHE y cm?

y=x(x+5) QL DHITBWT, Lx, LyDREEERD X, 12771,
SO EHORLTH D, C
L ADBIZHT B HLADORE 13 100°TH Y, Lxik D
I ADBIZxd % A Th 555
£x=100 x5 =50° Q\
@ y=2x—-3 2oV T, KD x DIZHT 5 y DfEZRD X, B
D x=1 @ x=3 M ACB T T B Pl DK E X1 Y
360°— 100° = 260° NS0
y=2x1-3=2-3=-1 y=2x3-3=6-3=3
ThY, Ly I ACBICKT A MEA TH D0
Ly=260°><%=130°
@) x=-2 4) x=-5
y=2X(—2)—3=—4-3=—7 y=2xX(—5)—3=-10—3=—13

x=10V3, y=5/3
= -2)

QKD 1 REED T T 7 %S,

y=3x+5 Y
/
5
/
/
—+1{0 A
/
@ KRD 1 IR D /T 7 % DT,
y=—2x—4 7




